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Time- 1.30 Hrs, Full Marks- 40, Q-Type-MCQ, Subject- Accountancy
= fAder—
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o TP U b IR fdbed Ay 7Y 2 | A fAdved &1 =7 SIS |
e IAd IR & oIy BIg 3d A8l BIC S |
oUW (Answer the following questions)
1. f99 & Q 19 1Y T HAF arell IR T8 € (which of the following is not a Not
for Profit organisation) "
(a) IIBT@W(COIIege) (b) @WW (sports club)
(c) HBdl SENT (Maruti Udyog) (d) gRdied (Hospital)
2. PR@US 31fAfae ufkeg € (Jharkhand Academic Council is)
(a) GJTWW(Trading Organisation)
(b) ﬁTGIITQTR’EFi@ﬂ(Non trading organisation)
(c) GHI (Both )
(d) Eﬁ@ﬁgﬂﬁ(None of these)
3. F@E‘Iﬁﬂﬂ%ﬁﬂﬁfw%(%nmeship agreement can be)
(a) j:ﬁ'@$(oral) (b) ﬁf@ﬁ(written)
(c) 1:ﬁf@$?SITT%'I]C@lFT(oraI or written) (d) ﬁﬁ@[ﬁ'ﬁgﬂﬁ(None of there)
4. Th IHHY IRt § IEieRl B S4B fedH 8 Ibdl 8§ (In an ordinary
partnership minimum number of Partners can be)
(@) 10 (b) 20 (c) 50 (d) 30
5. Jfd 8 (Goodwill is):
(a) Ic IHRT (A Tangible Assets)
(b) 3 JWRT (An Intangible Assets)
(c) dre Tfd (A current Assets)
(d) 399 9 P 78I (Non of these)

6. fUsa 9 auf & @Y & 6000, 13000 TUT X 8000/ TATH T 3MGd ATH & 2
e H1 & HF WG :


Accountancy


(Profits of Last three year wene Rs.6000, Rs.13000 and Rs.8000. The value
of goodwill at 2 years Purchase of average profit will be:)

(a) 81000 (b) 327000 (c) %9000 (d) 18000
7. HH & foTT SMERUT R T §
for the firm, Interest on Drawings is

(a) °UY (Expenses) (b) g (losses)

(c) 3T (income) (d) 399 ¥ P13 T8l(None of these)
8. x 3Ry 2:3 & U & &Y dicd 8- Hfasy & I JAF U |, T Sre
T a1 8 SH AeieR fod Srgurd § rT S|
X and Y Shares Profit in the ratio of 2:3 Now they decided to share profits

equally in which partner will sacrifice and in which ratio?
(A) 'x' sacrifice (M) 1/10
(b) Y Sacrifice (M) 1/5
(c) Y sacrifice (@RT) 1/10
(d) 9 9 PIs Tel (None of these)
9. oY UG 3IUTd 1 UMT & STl (Gaining ratio is calculated)

(a) WWW%W%W(N the admission of a new partner)

(b) fpat AR & TR IR HRA (At the time of retirement of a partner)
(c) e B & fagfed g1 W (On the dissolution of a partrarship firms)
(d) ﬁﬁ@[ﬁéﬂ?’f(None of those )

10. 3 TUT 9 WHGR § Sl 5:4 & 3FUd § @MY died €1 9 9 &1 1/5 fewn & faw
TSR T4 &1 3 TUT § BT AN SUTT §TY |

A and B are partners sharing profits in the ratio of 5:4. They admit ¢ for 1/5

Share of profit. what will be the sacrificing ratio of A and B.
(a) 4:5 (b) 5:4 (c) 1:1 (d) 3:2
11. T8 U™IGR & Ya¥ WX (on the admission of a Partner )
(a) TR BH &1 YA BT | (old firm dissolved)
(b) R TSR} ST JATIH I 8 (old Partnarship dissolved)
(c) TH 3R T ST BT FHTGH gha 3
(Both old Partnership and firm are dissolved)
(d) 781 BH 3R 7 8 AR BT FAIGH g
(Neither firm nor Partnership dissolved)
12. A, B 3R C 5:3:2 & 3urd & MM Sicd gC AIPIGR & A 3P T80 HRl ¢
P10 WWWI A,B and C are partners with profit sharing ratio as
5:3:2, A retires. Find the gaining ratio.




(a) 3:2 (b) 5:3 (c) 5:2 (d) 3:5
13. R, S @Y1 T &1 RMAT AY- fAUSH 2:2:1 € S &t YR & a1g ITHT ATH-
fauTeT SUTd 3:2 71 SIETY SfUId B,
(The old profit-sharing ratio among R, S and T ware 2: 2:1. The new Profit
Sharing ratio after S retirement is 3:2, The gaining ratio is)
(a) 3:2 (b) 2:1 (c) 1:1 (d) 2:3
14. {5 VEIER & G UGN R B 61 Aaid- (b4 UHR 531 STl g 2
How is goodwill recorded at the time of retirement of a partner?
(a) Remaining Partner's Capital A/C ---Dr
To Retiring Partner's capital AIC
(b) All partner's capital Alc - -
To: Gaining partner's capital A/c
(c¢) Gaining Partner's Capital A/c -- Dr
To Retiring Partner's Capital Alc

(d) B'Clﬁﬁﬂaoll'sc:lﬁ(Non of these)
15, AT - TG 3UTd 1 70T g YR 31 S 8 2

How is Gaining Ratio Calculated?
(a) Old Ratio - New Ratio (YRT-T 3{UId - 4T 3{JUld)
(b) New Ratio - old Ratio (74T AJUld - YT SHJUId)
(c) New Ratio - Sacrificing radio (4T SHJUld - AN 3{]UId)
(d) None of these (375 I P13 -Tg))
16. WEIER Bt Yo W HfaH Y 8T §
(On the death of a partner in a firm final payment are made through)
(a) li\_:\:fEﬂ?W\ET(capital Alc)
(b) fwITG® WId F (Executor's A/c)
(c) Eﬂﬁ@ﬂ?f@[ (Current Ac
(d) BU WA ¥ (Loan Alc)
17. g-—l{vﬂidﬁ [T ford 9T dOR farar Gﬂ?ﬂ%‘(Revaluation Account is
prepared at the time of)
(a) 7Y APIER & YA (Admission of a partner)
(b) fpat AR & SAHTR TG (Retirement of a partner)
(c) Ww%qmﬁa@ (Death of a partner)
(d) 379 T 9t (Al of these )
18. B & onffes g & grufa ver & ey gwofy & wfier @




current Assets of the Assets side of the Balance-sheet of a company

includes)
(a) fafdy ¢9GR (Sundry Debtors) (b) BTY HJHS (Cash in hand)
(c) XI& (stock) (d) TTt (Al of these)
19 3R R S{JUId %(The ideal liquid Ratio is)
(a) 2:1 (b) 1:1 (c) 5:2 (d) 1:2

20. $ATC 3fTad ST BT G :

Formula of Inventory turnover ratio is:

(a) 9 TE HE & ard cost of Revenue from operation)
3T T Average Inventory
(d) e gy Current Assets
EISEIRE Current liabilities
) 3id Tidh Average inventory
S 7T A/ B AT Cost of Revenue from operations
(d) g!ga@a current liabilities
%nqwtrf%r Current Assets
21.FTHN B 8 |
A COMPANY IS.euuuurrrrrerrreeeseeeeeeeenens
(A) 3rduTfe safed (B) A 3faenfie aafad
(An illegal person) (An Artificial ilegal person)
(C) ®hm dufe afdd (D) favw aafda
(An Artificial legal person) (A special person)

22. foft B & 3ifipan ol &t Tem Fal d JHd &

(The medium number members in of private company is Limited to..)

(A) 20 (B) 70 (C) 50 (D) 200
23. 3Tl B U g
(Shareholders get.....ccnnnee. )
(A) &S (Interest) (B) THIYT (Dividend)
(©C) SR (Commission) (D) dIH (poofit)

24 Yol T 98 HIT Sl Had HH-T & FHTTH WR &1 AF T Gobdl §, Heal ..

(The portion of the capital which can be on the winding-up of the
company Called-up................ )



(A) Sifipe got (8) freifir ot
(Authorised capital) (Issued capital)
(C) =T Hrf g Usil (D) dfera it
(Uncalled capital) (Reserve capital)

25. U HFH U L B U IR HRG HH- AfAfgH, 2013 ot i 4Ry
P Sfvid Sl SR} R Febll §

(A company can issue its shares at a Premium under which of the
following section of the of the Indian Companies Act 2013)
(A) 77 (B) 78 (C) 52 (D) 53
26. 3 3(TdeH WA 8 (Share Application A/c is
(A) feqiTd @TdT (Personal Alc)
(B) dRdfdd Wrdl (Real Alc)
(C) ATHHEA W@1dTl (Nominal A/c)
(D) 9 9 P18 e (None of the above)
27. IFR s feffira o o &
(Right shares issued to................ )
(A) Tdd®! &I (Promoters)
(B) FOAYTRGT B (Debenture holders)
(C) fa=mm sfxramal &1 (Existing shareholders
(D) Tt &I (All of the above)
28,3/ B0 WA & AY &I gXIdRd fbdT ST & (Balance of share forfeiture Alc
Transfared to........... )

(A) TTH-BIH &1l (B) USTt g @rar
(Poofit and Loss A/C) (capital reserve A/c)
(C) T o TTaT (D) 378 ¥ Bl Tol
(General reserve Ale) (None of these)

29. BU-U 4 B &

(Debenture holders are the........... )

(A) ST & TTEH (B) I & HITCTh
(Customers of the company) (owners of the company)
(c) B P ISR (D) 0 A HI g
(creditors of the company). (None of these)

30. FHUE R & BT R BT &

(Rate of interest on debentures is at ......... )



(A) 12% T (12%pa) (B) 20% aT¥® (20% pa )
(C) TAf%d & (Fixed Rate) (D) 15% TI¥® (15% pa)
31. BUYH! & s & rard foxamar Srar g
(Debentures are exhibited under the heading)
(A) 31 YSH (Share capital)
(B) T= (Reserve)
(0] BT BUI... (Long-term Borrowings)
(D) 395 ¥ ®Is A8l (None of these
32. U FBUL-TAT & IE, B UR U ATH BT <R g
(profit on cancellation of own debentures is transferred to)
(A) AH-gIA faaror
(Statement of Profit & Loss)
(B) ATH-gIA 3fereg fagwor &
(Surplus in statement of P/L)
(c) ITHT Hog @1 |
General reserve A/C)
(D) Uoit Jog ard |
(Capital reserve A/C)
33. T WA & U 2020 T 2021 H HUING U@ HAW: 2 100,000 4 3
80,000 ¥ | fy nfa=rd o1 X & 398 URad- gang 2
(A company had Trade Receivable worth ¥ 100000 in 2020 X 280,000 in
2021. By what percentage (%) it has changed ? )
(A) 20% (B) 25% (C) 40% (D) 50%
34. T HR & A a0 & Y fawa &t I &1 v SRR A1 @IS (In

a Common Size statement, the amount of net sales assumed to be equal

(A) 1 (B) 10 (C) 100 (D) 1,000
35. FO0F 41ikar 1 forerar 8
(Debenture holder receives.......... )
(A) TTHIRT (Dividable)
(B) &SI (Interest)
©) CIGE] Bonus)
(D) TTHIRT 3R &I I (Both Dividend and Interest)
36. MY T G ARSI ............ Wi P53



(Profit and Loss Statement is also called ............... )

(A) x’rﬁ%ﬁ@ (Balance-sheet)

(B) errrqﬁaw (Income statement)

(©) Uﬁiﬂﬂ:ﬁﬂﬂ (operating Profit)

(D) fafeamT (investment)

37. sﬁvaﬁﬁtrhaﬁ:h ? (Changes in inventory = ?)
A) IR wi® - 3ifaw wid
Opening stock-closing stock
B) fawg - fasg aroxdt
Sales - Sales return.

(C) %Y - HY quH!

Purchase- Purchase return

D) fa%d & AFTd - Thd aH

Cost of goods sold - Gross profit
38 JHs YaTe faavur Tafia 7
(Cash Flow Statement is related to)

(A) AS-3 T (B) AS - 6 ¥ (C) AS - 9 ¥ (D) AS - 12 ¥
39. & A H & IR- I5s 4T Tol &

(A) Tdg fad (Cash Sales)

(B) BIY (Depreciation)

(C) AT BT 3Tead (Goodwill written off)

(D) YT FHUI &I UG8 (Provision for Bad debts)
(which one of the following is not a non-cash item)
40. A% S YaTg fAaR0 IR TR TG AU BT Y f5d UaR o1 fbar &

Sfeid SRR 2
(Payment of Dividend will come under what type of activity while preparing
Cash Flow statement?)

(A) uf=re foear (operating activities)

(B) IESIRAER (financing Activities)

(c) faf=amT foran (linvesting Activities)

(D) Wﬁaﬁgﬂﬁ (None of the above)



AEUE e ATHLTH T TIAAT TRE U], ATGUE
aATTuh TTeAT 2023
aiea w1 o (FAroafas)

FeAT — 12 | o — ACT | &19F- 1:30 Rvre | TUTTF- 40

Ty fAgern-
o TEEATHT TATHNS (O 9T=31 H I <.
o % WAl AT HEAT 19 7.
o WA HEAT1H 7 TF AMd T ST TT 2. 5AqA 5 WA ITAL AT AT &, AT T &1 91 2

s fatia .
o WHHEAT8H 14 TH AL ITATT 2. TAH [Bedl 5 WAT B 3L AT AATH g, TeAF T FT
AT 3 3 fAaiha &
o WFHEAT 15 19 AfTTOT T §. A fhedt 3 WAl 1 I A7 AfHaTT 8. AT W FT w4
5 3 fReihia 2.
Section-A
1. geaT T & ?

What is subscription?
2. siftrener &1 I I

Give the formula of super profit?
3. TN 3GUrd Pt I fFA ysR B St B 2

How sacrificing ratio is calculated?

4. 39T A 3T R TAIA 2 ?

What do you mean by share?
5. U3 B ofeel A =T BT 2 P

What is meant by redemption of depentures?
6. dic] TRl b ded B2

What are current Assets?
7. Abs Yare frazor &1 3ref Fard|

Give the meaning of cash flow statement .

Section-B

8. foree faazont & adf 2020 & fow der J 3 @ v Fiow|

Compute the income from subscription for the year 2020 from the following particulars.
1.1.2020 31.12.2020
3red dar (Outstanding Subscription) 9000 6000

3ifdr der (Advance Subscription) 1600 4400
2020 & U deT B 2,24,000

Subscription received during then year 2020 - Rs 2,24,000



9. AB,Cus B & FI ARDER 81 B 3MadIer A8 &HAT & 3R AW AR o3 BH B oAl Bbr
5:4 B 3IGUIT H qea B foredd Hed &1 Wid 3iguTa PI I10reT SHifeTU |

A,B,C are equal partners in firm. b retire and the remaining partners decied to shatre profits of
the new firm in the ratio of 5 :4 calculate the gaining ratio ?.

10. Yolqcariorel e =T 2|

What is revalution Account.

11. Up IaA™ SR Usar ulg auf & 3ifoid ooy foreed g &8 - S 12000,13000,14000,18000
vd S 2000 (gifer) | Tt @1 A ferwral Ift IE Rreer ufg uwi & 3@ e & gorem W AN

The profits earned by a business over the last five year are as follows : Rs
12000,13000,14000,18000 and Rs 2000 (loss). Find out the value of goodwill if t is based on
two years purchase of the average profit of last five years.

12. 3feT Ud k0T U & PIg IR 3fdR Ia@md ?
Give any four point of distinction between shares and debentures

13. 3ie & BT A 37 RT JAIT & ?

What do you mean by forfeiture of shares?

14. foreafaRaa Faansii A dTe 3gUId I T BT |

From the following information calculate current ratio:
Xi®d  (Stock)

e (Debtors)

Addbs T o ampt (Cash in bank balances)
et Feufe=t (Fixed Assets)

FqR% oelerr (Trade Creditors)

<o fgar (Bills payable)

yraemer  (Provisions)

ddwreiier ko (Long-term debt.)

Section-C

15. 3T & Fd Td UG oordrel Jd  3iaz Jarsy |

Distinguish between receipts and payments account & income and expenditure account?

16. X 3R Y3t wat &1 31 A 2021 & 3w Ricer ForeafeiRag & d @mer & 3:2 B 3guid A
afed 1

The following is the balances sheet of the firm of X and Y on 31**march 2021 . They share
profits in the ratio 3:2 ?



Liabilities (g1fre) Amount Assests (Iaufer) Amount
() (zpa)
AeTeT (Creditors) 31,000 Jb & Aws (Cash at bank) 25,00
qoit Fmar (Capital a/c) yfd 3R FwE(Land and buildings) 12,500
X 17,500 wie 3R AMTH(Plant and machinery) 17880
v 17,500 ' 750
weitaz (Furniture) 10,250
6 (Stock) 22,500
66,000 2eeR (debtors) 66,000
1 30l 2020 B ZB fordet ordf TR T F waer 2
. Z B B 2500 FAMd B HY A e & o @R & & wen
. Z 5 7500 3Ueh Yot & U & armar &
. Z® YA I B fAU wH @ FEld FH e YBR Fedide fhem owm ofH AR

HBA B AT S 15000, @e 3R AMed B 10 Ufderd dH e 2 R Jo_eR W Ao
o & fU 5 ufderd @1 ude e, sifdd e B 12,500 W Aer B

Jadicea AT 3R ARSI & Yoll JMal Felrse |

They take Z into partnership on 1* april 2020 on the following terms:

° Z is to bring rs 2500 for goodwill which is to be retained in the business
° Z also brings in rs 7500 as his capital
° For the purpose of admission of Z the firm assets were valued as under : land

and buildings to be taken at rs 15000, plant and furniture to be reduced by 10
percent and porvision of 5 percent on debtors is to be made for doubtful debts, the
stock is to be taken at rs 12500.

Prepare revaluation account and the capital account of partners

17. forfar Rewor & fRectuor &1 @@ fda 22 3B oo Tasv|

What is meant by analysis of financial statement ? give it’s advantages

18. U foifdes @wawell ¥ 10000 3iQr Sielar ol fefferd P Ui 3i97 3 20 &1 31 3 TR > 4
3dqe W, S 8 3ded W AR T 8 YAH AN W ¢ &l 12500 3ieh & fIU 3mdes ual yrad gv




ATl o 10000 3i9 & 3Mded &l forory forar 3T 3rdee s @t AT &1 3Ny 3idea & fow
TR0 fbaIT ORIT| & AR Sleiel B ol difoe Fafl ARPRT Ut & a8 |

A Ltd company issued 10,000 shares of rs 20 each to the public. Payble rs 4 on application, rs 8
alloutment and rs 8 on first call Applications were received for 12,500 shares . The directors
decided to allot 10,000 shares and surpluse of application money was utilised for allotment.

Pass the journal entries assuming that the amounts due were recived.

19. fereaferlRaa Jgaensit & uRarea feansl F Aws yas avor duR @i |

From the following information prepare cash flow statement from operating activities :

arg a¥ @1 gg @ (Net profit of current year) 100000
AT I F sxaredaor (Transfer to genral reserve ) 10000
el & et (Decrease in debtors) 25000
2 faust & weft (Decrease in bills payble ) 20000
sufaRaa siet wr @ger (Discount on shares written off) 5000
e # glg (increase in stock) 18000
Fiefter d@at A =ifer  (Loss on sale of machine) 12000

fafereior Ier & @mer (Profit on sale of invesment.) 4000
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P& -12 SUB- BMT
Q type- MCQ F.M-40 Time- 1.30 Hrs
I fAder-:

> BT 40 UY g

> It ugl & IR SifFrardt 2

> TS Uy & fou ve s fAuifa 21

> TS Uy & IR e fou e g1 9E) fawwu &1 w4
S|

> TTdd 3R & AU B 3 8 HIe ST |

. Which is the 27" term of the sequence 5, 14, 23, .............2(3T&H 5, 14, 23,.............
@1 274t ug fifdhd § &9 8 ?

(a) 239 (b) 100 (c) 101 (d) 900

. Inan A.P. first term is 1 and last term is 11. If the sum of n terms is 36, the value
of n will be : T&% AMIAR 21 7 Ugal U 1 € 3R Af¥ ug 11 2 | AT n U &1 AT 36
81 dI n &I A9 8N

(a) 10 (b) 7 (c)6 (d)5

. Geometric mean of aand b is : a 3R b &T IR Ay & —

a+b

(a) 5N (b) ab? (c) Vab (d) None of these (374 & 13 7T8)

. The third term in G.P. is 4. The product of first 5 term is : U IR /&l H TERT IS
4 T| 39D UAH 5 UQI BT [UHHA © —
(a) 256 (b) 2,048  (c) 512 (d) 1,024

. 1f ¥p, = 2,730 then the value of r will be : afg °p, = 2,730 & @ r &1 79 8 T —
(a) 3 (b) 4 (c)5 (d) 6


F.M-40


6. If "c12 ="cgthen nis equal to : IfE "c12 = "cgdT N R &
(a) 20 (b) 12 (c)6 (d) 30

7. How many different word of 2 letters can be formed out of the letter of the
word CAT ? CAT ¥ & 3eRI | 2—2 eRI & fhad Ieg 99 Il 8 7
(a) 8 (b) 6 (c)3 (d)2

8. If "P3 =60 then the value of nis : afe "P3 =60, d n &1 91 82—

(a) 3 (b) 5 (c)9 (d) 20
10 7
9. The value of 8 &5
(a) 15 (b) 5 (c)-6  (d) None of these

X2 X
10.The value of 5x 5

(a)o (b) 1 (c)5 (d)25

11.A matrix with single column and any number of rows is known as : Tde w®7 3iR
fopefl 1 He= arell ufdaal & gaa Mg dedlr o

(a) Singular matrix (Ul 3Meyg)
(b)Row Matrix (dfdd 2mregg)

(c) Diagonal Matrix (fa@®vr ameE)
(d) Column Matrix (X1 31Tgg)

12.In a row matrix, the no. of row is : (dfad amegg ¥ dfeaai @ e excfl 2 )-
(a) 1 (b) 2 (c) 3 (d) None of these (3% & &3 7T8)

13.IfA=3 é],3=[g ;],thenA+B:(?Jﬁ{A=[§ é],3=[§ ;],eﬁms):-

(@) B'_Z; 172 (b) [172 g] (c) [:% _46] (d) [2 Z



14.1f A={a, b, c,d.}, B={b, d, e, f,} ar A n &1 a1 8111 (If A={a, b, ¢, d}, B={b, d, e, f}
then the value of A n B will be) : If unifersel set x = {1.2.3...20}
(a){a,b,c,d,e.f) (b){b,d} (¢){d,e,f} (d){c,d, e}

15.1f A= {p, q,1,s}, B={q, s, t}, C= {m, q,n}, a1 C— (An B) Farfew (If A={p,q,r,
s}, B={q, s, t,}, C={m, q, n}, find C-(ANB):

(@){m,n} (b){p,a} (c)(r,s} (d) {p, r}

16.The differential coefficient of 3..* w.r.t... will be:
» @ AT 3.4 BT SadHAT IOTH BN

17.1f y = 2 logz.- then Z—Z is equal to:
afe y =2 logy. FﬁZ—z ERI AR
(a) X (b) 1 (c)O (d)y

18./(2x + 3)° dx =7
(2x+3)°
(a) —;
4
(b) (2x+3) +
(c) (2x+3)° +C
12

8
(d) NOne of these (374 & @15 1)

C

19.f x®dx =?
(3).727+C (b)"77+c C (0 6x5+C (d) 6x7 +C

20.The best measure to central tendency is A.M is it true ?
DAL YT HT FaRTH A9 GO AR ¥ | R I8 A B 2
(a) yes (b) No

21.Mean of 5, 8, 11, 16, 15 is:



5,8, 11, 16, 15 BT AT &
(a) 10 (b) 11 (c) 12 (d) 13

22.Formula of median for individual series is:

23@1%@%?5%?%@@%"

(a ) th term (b) th termr (c) nTH th term (d) (2) th term
24.80, 100, 90, 170, 60, 50, 40 BT HIIDT & —
(a) 80 (b) 170 (c) 90 (d) 60

25.Median is: ATfegaT &:
(a) Most frequent value, ¥ 31fei® IR 39 dTelT A
(b) Least frequent value, et &H dR 3 daTell A9
(c) Center of gravity, T &
(d) Middle most value, &= &1 #H

26.Mode is: Tga® ©:
(a) Most frequent value, Se¥t 81fffs IR 3 dTelT A
(b) Least frequent value, \et &H dR 31 dTell A9
(c) Middle most value, @ &1 A+

(d) Representing majority out of total frequency, &1 IRER ¥ Haifed & Fwud
B T

27.Which of the following is true? f=ifea # d—ar I 87
(a) Mean= 3 Median — 2 Mode, drea =3 A1fegedT — 2 dgold
(b) Median = 3 Mode — 2 Mean, A1fegedT = 3 gg8cid — 2 H1ed
(c) Mode = 3 Median — 2 mean, 9o = 3 HIfegedl — 2 Ay
(d) Mode = Mean + Median , ¥gcfd = #1ed + HIfedeh!

28.Which of the following relationship is correct? 7 7 & H9F— Hawr F&r 87
(a)AM.= VG.M x H.M. (b) HM. =vVA.M.X G.M (c) G.M. =
VG.M.x H.M.




AM+H.M.
2

(d)G.M. =

29.The geometric mean of two number 8 and 18 shall be: 3T 3f&T 8 3R 18 HT YUIKR
Heg EAT:
(a) 12 (b) 13 (c) 15 (d) 11.09

30.1f the A.M and H.M. of two numbers are 5 and 3.2 respectively them geometric

mean will be: a1 F=RIT &1 A.M 3R H.M. F9r: 5 iR 32 & AT Uik A=A BRI
(a) 4.05 (b) 16 (c)4 (d) 4.10

31.Least square method is used for calculating trend: < avf AT &1 TART IuART
ST B ® oIy fhar SImar &
(a) True, |21 (b) false, Tetd

32.The seasonal fluctuation are: #r¥#i S=ar@@ 81 &
(a) Periodic and irregular 3mafere va sivaf@a (b) periodic and regular smaferes va
fafma (c) not periodic, 3mafed Fsi (d) cyclical, @™

33.the most important factor causing seasonal variations are: AT faaroll &1 S~
B ATl FIH AUl HRSD o
(a) growth of population, ST gig

(b) change in fashion %M # aRacd+
(c) weather and social customs #H 8iR amMTfa® AfaRars
(d) technological improvement d&+iifd geR

34.the probability of drawing a red ball from a bag containing 4 red and 5 white
balls is: 4 &I TIT 5 AHE &l Tt U Ot § A Th olal Ag b &7 Uifiddr &
(a) 4/5 (b)3/5 (c) 1/5 (d) 4/9

35.The probability of 53 Sundays in randomly chosen leap year is: T& Jrgzear g 1Y
AfT—ay ¥ 53 IAAIR EH IRIHAT =
(a) 3/7 (b) 1/7 (c)2/3 (d) 2/7



36.1n a single throw of two dice the probability of getting a total greater than 8 is: T
U U 9R Bl R 8 3 3ifSd AT UTd 819 &1 UTfdbal &

(a) 8/36 (b) 12/36  (c)5/8 (d) 4/16
37.The probability of drawing a black card or king from a pack of cards is: el @I t&®
TSl TUh BTl YT 3FAdT d1S2e fAbot T UTfshdT &
(a)26/52  (b)4/52 (c) 7/13 (d) 2/13
38.At the time of interpolation continuous series is not cumulated under: 3T=RIoH
(a) Binomial expansion method fgug fawar afq #
(b) Netwon’s method =Je=1 afar #
(c) Lagrange’s method <fxet Sfa #
(d) All the above Swjaa &+
39.Binomial expansion method is based on: fgug fawRr AfT smnRa =
(a) Multiplication theorem T[oH y#y W
(b) Additive theorem IrT 9T =X
(c) Binomial theorem fgue v9g w®
(d) None of these 7% & ®Ig &l

40.Which is the method that can be used in any type of questions of interpolation?
VT D19 A1 AT 8 S Ao & fh’dl W UBR @ U H WA Bl Sff Fdhdl ©
(a) Netwon’s method =ge+ Jfa
(b) Binomial expansion method fgus faxar dfc
(c) Lagrange’s method <fwt Sifa
(d) Sterling’s formula wefeiir Af




HET -12
T -2022-23 SUB-BMT F.M- 40 Time- 1.30 Hrs

I Fewr-

> e guriye o weal H IR ¢ |

> oo Ul B T/ 19 T |

> Y G- 1 ¥ 7 9% ] 9Y IIT Uy . fhel urg w6
IR & A B | UE Uy BT HA 2 3 [UiRa 7 |

> Y G- 08 ¥ 14 Y I Uy B, fh=f g usi &1 IR
1 3ifarf | | u% Uy &1 A 3 3ie AYiRd § |

> Uy G- 15 ¥ 19 <Y It Uy 8. fedt dF el @1 S
1 3ifarf | | ud% Uy &1 A 5 i AYiRd 7 |

Group A (2 Marks)
1.9 nca = 5 xnp3dl n ST HE A PR
If nca =5 xnps, find n.

2.9 A@1fert (Evaluate)

3. JHTH e ®X (Integrate)

dx
%2 (x<5)

4. 52 U 9T <ITRT B U T3] Y T I b Widl S Bt Ui T g 2


F.M-  40

दो 

2


What is the probability of drawing a Queen in a draw from a pack of 52 cards?

5. T BT gRT 3ih, O U 31f=1d H UTwdich hHT: 75, 92 9T 49 g Y ST 3¥d UTdich
e |

The marks obtained by a student in English, Mathematics and Economics are 75,
92, and 49. Find its Average score.

6. afg (If) A = [i _32]?-ﬁAI I ®2 (then find A7).

7.3t (If) A={3,5,7,9}, B =1{6,8,10}dI (then find) A U B Jid ®%|

Group B (3 Marks)

8. Tfe for<lt grTaR Juft b1 8 9T 3R 25 9T UG HHTT: 15 3R 49 g T UG UG 3R USTR Jd IO

If 8" and 25 term of an A.P are 15 and 49 respectively then find its first term and
common difference.

9. I [2 6]am6g<—qmsrmﬁ|

Find the inverse of Matrix [g g]

10. 520 fFTA} & TG A 360 Had 3=l TUT 130 Had S S Johd & | fhda aafaa fe=dl 3ik
3TTSTt G et bl g2

In a group of 520 persons, 360 can speak only Hindi and 130 only English. How
many persons can speak both Hindi and English?

11. x o ATUE 3w difoid (Differentiate with respect to x).

(x—3)(x+2)
X

12. 91 fAe@1et (Evaluate).



I —en(nz—l) dx
X

13. U Afad 4 B Y 3 = 98 ammar @ iR guRT aafad 3 ° 9 2 e adt avmar g1 afe gei 8
A T 1Y TId DX ol 98T &b U TRl ATd DI

A person is known to hit the target in 3 out of 4 shots, whereas another person is
known to hit 2 out of 3 shots. Find the probability of the target being hit at all
when they both try.

14. 9fe 3 TRE3T HT THR A1ET 10 § 3R 36T IR JTed 8 § Al 31 8IS H1ed I BHifor |

If Arithmetic mean and Geometric mean of two numbers are 10 and 8 respectively,
find its Harmonic mean.

Group C (5 Marks)
15. f siferet 3 ArfeesT J1d SHifvTe:

Calculate median from the following data:

T (Marks) : 5-10 | 10-15 | 15-20 | 20-25 | 25-30 | 30-35 | 35-40 | 40-45

BET Dt WA (Number of 6 5 18 10 5 4 2 2

students)

16. 1a 9oft 1 82 Hra Aoft fa=e T &1 He@ &1 Are & |
What is a time series? Explain the importance of Time Series Analysis.

17. i qiieresT § deeprel Siae &1 anfies! 100 30 b o forT framan T &




The following table shows the value of an immediate life annuity for Rs. 100 paid:

39 aul | 40 50 60 70
(Age in years)
(Annuity) 6.2 7.2 9.1 12.0

42 af Bt g & R A DHT 71 PN

Interpolate the annuity for the age of 42.

18. FHIH T @< (Integrate)

(i). flogx dx  (ii). | xvx—1dx

19. 54554555+ ... vvrereeenrieees n UG 0% BT ANTHS 1d PR
Find the Sum to the n terms

54554555+, n




aTf¥er gdIeT (2022-23)

SRS T8I HTHUTeT U HIRA&ToT aRwe, I
AlSST YT U7 (TEI[TS0) AT -1

heTT- 12 [EARECIERIRETR ISR HAT- 1.30 ®eT quiieh- 40

ATATT TA&2r-

> ol 40 TG
> T 9T & 3R AT g

> Tl W2 & TIT 1mark=TeiRa &1

> Ul U & IR dhey QU a0 § | T8 fashed 1 a3t Sifaid|
> ITeld 3R & ToIT HIg 37 18T I ST |

1. STFATT BT FHTTAT el Tl TTeh I TTEATId T H gl STl ¢-

A) SITTATTAS dTATa 0]
B) et
C) STaa

D) 3YHFAT
The factors affecting business are collectively known as-
A) business environment
B) planning
C) business

D) consumer

2. 3AH H hieT TR ATATERUT T TEHh &7

A) 3T JoTrelr
B) 3nfde Aifaar
C) 3T game



01अंक

1

 mark


D) 3T HiT

Which of the following is an element of economic environment?
A) economic system

B) economic policies

C) economic conditions

D) All of these

3. fdea ferar Srar g
A) TAAT & foT
B) #ifasg & forw
C) #{cTehlel & T

D) @t g7 & forw

Planning is done
A) for present
B) for future
C) for past

D) for all times
4. TrarSTeT ufehar 7 yUH e &-

A) Ta&eul ST ggaTel Flem

B) HaAS fAshed &1 Tel el
C) 3eaed fauiRa &

D) HHTEIT el

The first step of planning is-

A) identification of the alternatives
B) selecting the best alternative

C) setting objectives

D) follow up action



5. JHTAT AR & forw 3masae &
A) B9 T glaer

B) TEART JUT GH-aT

C) 3TTAHRT shT TISETRIOT

D) Ig |l

Effective delegation needs-

A) facility to contact

B) co-operation and co-ordination

C) clear explanation of authorities

D) all of these

6. HET STIR agR il &
A) 3eTehTele I H

B) HLIHToll Y H

C) ErdehTolle] Y &

D) $71H 8 IS 576t

Money market deals in
A) short term funds
B) medium term funds
C) long term funds

D) none of these

7. YT hT AR &
A) HeaT
B) 3T&eT
C) fgfFasior
D) faz=oT



Essence of management is
A) co-ordination
B) organization
C) Staffing
D) controlling
8. Y&t H fehctel TR B &7
A)2
2)3
C)4
D)5
How many levels are there in management?
A) 2
B) 3
C) 4
D) 5
9. TdeTeR sl TatT & fohd TR A HFATI FohaT ST 87
A) 3=T ER
B) ALY X

C) T TR
D) 39Rerd HiY

In which level a supervisor is included?
A) Top level
B) middle level

C) lower level

D) all of these

10. T & @ Fi g FHr _AAwar g



A) Hrefgen fohar
B) A Hishar
C) araNifAs

D) 3uierd |

Which of the following is a characteristic of Management?
A) group activity
B) continuous process
C) Universal process

D) all of these

11. I8 ST S 31T ATFIAT T Y e T &TAAT TWAT § 38 FaEd &
A) FHARY

B) Ut

C) 3T

D) 3rymET

The person who has the ability to get work done by others is known as
A) worker
B) manager

C) entrepreneur

D) economist

12. g1 thailel & GaRT feu 10 yaiyy & fagyiar Hr aear g
A) 10

B)S

C) 14

D) 15

Number of management principles given by Henry Fayol is

A) 10



B) 5
C) 14
D) 15
13. 8o el & Tohe TReiiel & 3THR Teh TRTEY T Ueh €1 31TRIhRT & 3TEer WIed gl =g w?
A) 3T1ERT Y ThdT
B) facer &t wahrar
C) AT
D) HIYTeT Helt
According to which principle of Henry Fayol, a subordinate should get orders from only one superior?
A) Unity of command
B) unity of direction
C) equity
D) scalar chain

14. d3TeYeh 9o H faRelvor
A)25%
B) 50%
C) 75%
D) 100%
Analysis in scientific management is
A) 25%
B) 50%
C) 75%
D) 100%

15. AT U & Sleleh &



C) Sifef 3R &
D) &Ie8 Hes

The father of scientific management is
A) Henri Fayol
B) F. W. Taylor
C) George R. Terry

D) Harold Kuntz
16. §oT<T ST T ST G3T AT
INKEIEIGE:]
B) %I &
C) STHAT &
D) 3ARET &
Henri Fayol was born in
A) Japan
B) France

C) Germany

D) America

17. A HT UaTE BT &
A) TR FT IR

B) I fr 3%

C) HAd TR T

D) 518 ¥ IS Tg1
Flow of direction is
A) upward

B) downward



C) at parallel

D) none of these

18. FHFATRAT o faehr # AFAfIT &

A) UgledATd

B) TATATALIT

C) gfRreqor

D) Ig |l

Development of employees involves
A) Promotion
B) Transfer
C) Training

D) All of these
19. SToIe US SsTeeTel AT ATHe YEcieh ohl TeT fehdiat hr &Y 2

A) BT el

B) Ttho Ssego Telk
C) TSt 310 &r
D) gX1es FHesT

Who wrote the book "General and Industrial Management"?
A) Henri Fayol
B) F. W. Taylor
C) George R. Terry

D) Harold Kuntz

20. AT F AT
A) TI3EToT
B) e



C) 37TRUROT
D) 39 HHY

Elements of direction are
A) supervision

B) leadership

C) motivation

D) all of these
21. HERMATE & geIcH Y&ThR 81 &
A)l
B)2
C)3
D)4
The minimum parties to communication are
A) 1
B) 2
C) 3
D) 4
22. foTA0T 3MaRTS §
A) oY 395 & faw
B) #EIH 3THR & 3THHA & [T

C) §13 3R & 3U%hHA & v
D) 3Wierd T8l & forw

Controlling is necessary
A) For small Enterprise
B) for medium size Enterprise

C) for large size Enterprise



D) for all the above
23. TAYFAhoT I < foham aram et &

A) &1sT T SETEY
B) 3T

C) lafaae=

D) g18 & FIg =Tel

Money spend on staffing is
A) wastage of money

B) necessary

C) investment

D) none of these

24. T weeres oot 7 & foraey wefla faoTar o 82
A) faa
B) fafa=er
C) ST

D) 39Rerd HY

Which of the following decision is taken by a financial manager?
A) Finance
B) Investment
C) dividend

D) all the above
25. Qell & HET AT &
A) el
B) Hes
C) Sleehrcr
D) deelg
Head office of SEBI is located in

A) Delhi

B) Mumbai



C) Kolkata

D) Chennai
26. Tehee, fqafor fohaeh fReil hr et el g 2
INMGERED

B) &YaiT

C) THR

D) $o1H & 1S =Tgr

Whose interest is protected by stock exchange?
A) Investor
B) Company
C) Government

D) None of these

27. fa9uTeT STHBRT BT &
A) 3THFATHT & forT

B) fa#Tan3it & forw

C) SIaaT & folT

D) g8 & forw

Marketing is advantageous
A) for consumers
B) for manufacturers
C) for business

D) for all of them
28. [AF T F @ 317 aTaTaRoT &7 ded st TTE?

INGIGE
B) 3¢c2T



C) TS T
D) 39 HHY

Which of the following is an element of internal environment
A) policies

B) objective

C) organisational structure

D) all of these

29. Y& T AR &

A) §HeaT

B) TTSaT

)] iﬁﬂi?ﬂ%!ul

D) faz=oT

Essence of management is
D) co-ordination
E) organization
F) Staffing

D) controlling
30. TEG3T T QATHT & Scures 1 =75 ATt Hr @iet oo & & fonareh 37craia 31mar g7
INEEGIGERCIGICE

B) TIHATTSIeh aTcTaior

C) Teheilehl ATcTavoT

D) $oTH ¥ IS el

New techniques of production of goods and services come under which of the following?

A) political environment

B) social environment



C) technical environment

D) none of these

31. foarsrer ufshar 7 3ifas wRoT #
A) faedr 1 ggare T
B) 3¢ae¥ fAuiRa sar

C) GHYET AT

D) TTSTeIT &l oTa] el

The last step of planning process is
A) identification of alternatives

B) setting objectives

C) follow up action

D) implementing the plan

32. TR HaTS BT & 3T HEUT Sl 3Heh GaRT ScdTied TehU STTet dTel HET 3cUlal & TR T
fasniord frar sirar g 2

A) g a1 F3fasterer Harae o

B) FTcHS TS S
C) AT IS &rdT
DESEREIEDH]

In which type of organisational structure the enterprise is divided according to the main products
manufactured by it?

A) divisional organisational structure
B) functional organisational structure
C) Informal organisational structure

D) none of these

33. AR fohaT ST FehaT &
INEIBEIr D]



B) 3RGIAcd &l
C) STaTacar ar
D) 3 I TR T TgT

Delegation can be done of
A) authority

B) responsibility

C) accountability

D) none of these

34. ToloT 7 9 et AT Y faAweT § 2

A) FASTIH

B) #fasgardy

C) ATATHS Ufehar
D) 39erd T

Which of the following is a characteristic of planning?

A) all pervasive
B) futuristic

C) mental process
D) all of these

35.99¢T &

INBEEIG]

B) el

C) el vd fa=T et
D) S & IS oIel

Management is
A) science
B) art
C) art and science both

D) none of these

36. fe=T & & -1 AT JTATaIUT ST 3ET8I0T 57
A) 3




B) 3UHIeFar axafor ifafaas
C) IRAR Fr 7=
D) IS 3

Which of the following is an example of social environment?

A) supply of money

B) Consumer Protection Act
C) composition of family
D) national income

37. g BTl & GaRT [T aTT Jayer & fAguTdl bl §&ar &

A) 10
B) 5
C) 14
D) 15
Number of principles given by Henry Fayol is

A) 10
B) 5
C) 14
D) 15

38. AATTIeh Teer & FEcishell &

A) goll harel

B) Ttho Sscgo ¢olk
C) SITeT 3Re &
D) S8 § IS et

The propounder of Scientific Management was

A) Henry Fayol
B) F. W. Taylor
C) .George Terry
D) None of them

39. A& H yHE@ A

A) 1
B) 2
C) 3
D) 4
Main elements of direction are

A) 1

B) 2

C) 3

D) 4
4o.ﬁ?ﬁ'€rq-q’"zra:r§1§zra:rér%



A) TaeiT HarsTe e

B) I YTC il

C) YCH ST T e hlall
D) 3uderd @efr

Main function of financial management is
A) financial planning
B) procurement of funds
C) allocation of net profits

D) all of these



arf¥er oYt (2022-23)

SRS AfaTeh T Ta FIRILTT IRV, V<
HAISS 9T I

Subject- BST, Time- 1.30 Hrs F.M-40

fad &g 3987 weaA (Very short answer type questions)
fregl 5 72T T 3°X & (Answer any five questions.) 5x2=10

1. 31T araTaRoT & 319 AT TqHASAE? (What do you understand by economic environment?)

2. YSET T st AT B SH ST T IS el ¢ foh AREcliden fhaTd FAITTe fhamsit & 31eTwa g7

(Which function of management ensures that actual activities confirm to planned activities?)

3. fquore Far 82 (What is marketing?)

4. AT T 31T FIT FHSTA 2 (What do you understand by communication?)

5. FRATCHS &l & T ATAYTT &2 (What is meant by functional structure?)

6. MT STTR T fhegl & TAAWATHT FT 3eel@ FI| (State any two characteristics of secondary

market.)

7. 3YHFAT N7 a:ﬁ'é Gl 3GI8Y0T &I | (Give any two examples of consumer exploitation. )

oy 3909 92T (Short answer type questions)
fregl 5 W2l T 30X & (Answer any five questions.) 5x3=15

8. JSTET hr GILSTST ST U 5Thr 97y fIAIYATT FHSAVI ( Define management and describe its

characteristics.)

9. 3TTTRS TS Fr Thegl dlel AATATT &l ddrsU| (State any three features of formal

organisation)

10. GAAETH & fohegl el AT T Soold HITAT| (State any three functions of a supervisor.)
11. 999 & fafded TRT Fr g@a &7 THSMSA? (Briefly explain the different levels of management)?


F.M-40


12. SoTery fAT=0T & F4T ofTeT 82 (What are the advantages of Budgetary Control?)

13. [Tt & fohegY 3 AGcd el SITEAT ShITATT I( Explain any three importance of planning.)
14. #T UF 9T o 1T 3R TISC HITAT | (Differentiate between recruitment and selection. )
& 398w w2 (Long answer type questions)
el YeT weaAt 13T & (Answer any three questions.) 3x5=15

15. e ufhar & faffiesr ROl &1 @eia & aofa &Y (Briefly explain the different steps of

planning process.)

16. Teh SYTHTY T TATS YaiT IaRATHATHT &1 THITIT et dTel Tcehi &1 quTeT ST (Explain the

factors effecting the fixed cost requirement of a business.)

17. ATEAT T HTTRIRAT-TL AR AT TAIRYRT T T&IT 7 quTeT &L |(Explain briefly the Need
Hierarchy Theory of Maslow.)

18. “Ta3ITIeT 3TATaRTSh AT IUSTY § | FIT 3T 39 el H A g7 3TeT 3R Hl hRUT GITAT|
(“Advertising is unnecessary and wasteful.” Do you agree with this statement? Give reasons for your
answer.)

19. goTI BTl SaRT FfAuTfed Seetr & fAguidr &1 @9 # guTe HTIT | (Explain in brief the

principles of management enunciated by Henry Fayol.)



Alsd YA 9-2022-23
H&T -12
SUB- ETP, TIME- 1.30 Hrs  F.Mm-35

AT e
> %l 35 ye §
s weat & I fAE &
Udd T & fav v 3w AuiRa g
9% T2 F aR QAdeq Ru v & ¥ RAdeq &1 aaa AfFA
Tad 3 F AT R 3w 7 F1& AT

1. @& & & Fla-ar 3aW a7 H ded 8?2 (Which of the following is an
element of sensing the opportunities?)

(31) T@HST &1 UfFd (Ability to perceive)

() gRada 9 seR (Insight into the change)

(&) FaYAd=a o7 (Innovative quality)

@) 3T T @At (Al of these)

2. Y TAAT Hed faftr grafetrd § )NPV method relates with)—
(a) HaT &1 @AY Hed ¥ )Time value of money)

(b) F&T T §¢ §T e ¥ )inflated value of money)
(c) el &frell aciATT Hedl & )Present value of money)
(d) 378 & FIg 161 (None of these)

3. &rdehTellsT %OT W &IdT & (Long-term loan bears) -
(a) TEUX saTaT eX (Fixed Rate of Interest)

(b) gRadT:fTer sarsT & (Flexible Rate of Interest)

(c) YT =TT X (Zero Rate of Interest)

(d)

d) 95 ¥ FIs &1 (None of these)


F. M-35


4. FY-HaTE AT # GYFd 'Y Asq HT IR ¢ (The term Fund' as used
in Fund Flow Analysis means) -

(a) shad UHs (Cash Only)

(b) =Tl WFUTHT (Current Assets)

(c) =re] &1f¥ca (Current Liabilities)

(d) =T HFAfaAT sl =Te] aTffica 9 31T (Excess of Current Assets over

Current Liabilities)

5. GeT3[aTdleT 3rafe Heafetd gieh § (Pay-back period deals with)—

(37) I 37oiT Ufshar & forT 3maeaes 31afdr (Period required for profit earning
process)

(b) Tafer@er ameTd agel & v 3fravdes /@i (Period required for cost of
investment recovery)

(c) TR &eTd agell & foIU 3maeds 3afer (Period required for fixed cost

recovery)

(d) 37 & FIg &1 (None of these)

6. 37erereT )Contribution)-

(a) fSshr &rerd FeT oI )Sales Less Total Cost)

(b) Toshr gera gRadereiler @eTd )Sales Less Variable Cost)
(c) Toshr Tera 2R @91 )Sales Less Fixed Cost)

(d) 377 & FIg =61 )None of these)

7 TSR 6T AT & e F & F41 Fgd ¢2? (Market Demand is also known as)
(a) AT &1 sfasgarelr (Demand Forecasting)

(b) arEafas AT (Real Demand)

(c) It (Supply)

(d) 318 & HIs 1T (None of these)



8. 3e¥#T Yot faUR 3c9e=T §3M & (Venture capital view was originated in):
(a) IRA # (India)

(b) 9elus # (England)

(c) ARSI H (America)

(d) ST9TeT # (Japan)

S . ST GERT HT Wiel & FT & gR™T Fr AT &1 (oo is
defined as discovery of business opportunities.)

(a) fagureT (Marketing)

(b) 3TfasshR (Innovation)

(c) 9wad= (Promotion)

(d) 39ded # & &S wEr (None of the above)

10. faarsra g1 ar & (Planning is):

(a) 3Teqshlelll )short-term)

(b) AETFTeNT )middle-term)

(c) &rerhrella )long-term)

(d) T3 3afaat & fow Yfor all terms)

11. IRIST IR AT ST & (Project is prepared)
(a) Jacehi garT (By Promoters )

(b) Ysetrhl gaRT (By Managers)

(c) 3¢THT ganrT (By Entrepreneurs)

(d) 3 &efr & garT (By all these)

12. 37Te?] |Te] 39T giam ¢ )ldeal Current Ratio is)-
(a) 2:1

(b) 1:2
(c) 3:2
(d) 4:1



13. A 31l Ufshar & A gld & (Learning process involves):
(a) HANHATT )Cue)

(b) TaTeleT )Drive)

(c) 3=IfshaT )Response)

(d) 31 | )AIl of these)

14. ys=¥T & (Management is )—

(@) el (art)

(b) faaTeT (science)

(c) @elm 3R AT 4T (art and science both)
(d)

d) 378 & *I5 77T (None of these)

15. " faaa #fasa & gehsa & v S ar a=—r R §1" I8 U § )"A plan
is a trap to capture the future." This statement is of) --

=g#T (Newman)

VoleT (Allen)

gef (Hurley)
& (Terry)

(a
(b
(c
(d

N~— = N

16. Teh IR § (A project is ) -

(a) arfafaferat &1 @Hg (Cluster of activities)

(b) Twer afafafer (Single activity)

(c) 3y aifafafeat @1 @#g (Group of innumerable activities)
(d) 378 & FIg 78T (None of these)

17. 9Rf&EHe Elaar g (Opening Stock is) -
(@) ®IY & AT (Sources of Fund)

(b) Y &1 AT (Application of Fund)

(c) Y T garg =1er (No flow of Fund)

(&) 317 & HIg g1 (None of these)



18. et # & fordert 3cUIg AT QAT &1 TAT HId AT AT TGl &Y 87
(Which of the following factors is to be consisdered while selecting a product
or service?)

(a) gfadIfrar (Competition)

(b) 3c4rced orard (All of these)

(c) &8t hr FFHATGST (Profit possibility)

(d) 315 & T )AIl of these(

19. HH-IgT NeAfAr 3uaef § (Labour-intensive technique is useful) :
(a) faerreefter &t & (For developing countries)

(b) faerfad St 8 (For developed countries)

(c) Toer 3rfegaeunsit g (For backward economies)

(d) 37¥Fa & @ Rl & fow =€t (For none of the above)

20. faEar{ior gRASTT AGe Fdl & (Expansion project helps in) -

(a) TdeTAT AT & 3ROT # (Supplementing the existing resources)
(b) fufiges faaet dr qfct &1 wergor (Capturing supply of critical inputs)
(c) 3tfaRera /@RI &1 & 3o (Encashing additional opportunities)

(d) 378 & HIs g7 (None of these)

21. "99= T UAT g1" I§ U & (“Management is a profession.” This
statement is of )-

(a) SITeT 3R. &I (George R. Terry)

(b) AR Ya=r TEITATAST (American Management Association)

(c) &= Harel (Henry Fayol)

(d) 315 & HIg 78T (None of these)

22. ¥ AT & (Subsidy is):
(a) RIIa (Concession)
(b) seeT (Discount)



(c) Get: Tl (Repayment)
(d) 318 & HIg 78T (None of these)

23. 3UHHA HT goAld I AT & (Selection of an enterprise depends on):
(a) TahThI <R (Sole Trading)

(b) FTEET T 3SR (Right of Entrepreneur)

(c) aTEHT & TIT Hr JEIAT (Self Ability of Entrepreneur)

(d) 3 & & @IS 7TET (None of these)

24. Rd WHR eaRT FAfAT feer-fadat & eqar aefas Ieft #Iv & foe

ROT-HHAT 3HeJdTd %=1 & (According to guidelines issued by government,

debt-equity ratio for venture capital fund is):
(@) 1.5

(b) 2.0
(c) 0.5
(d) 2.5

25. T # @ FIF-91 geah SR Hedichsd I YA STeldT 872
(Which of the following factors affect market assessment?)
(37) g&#H ardra’or (Micro Environment)

() 3cUTg dT &rRTa (Production Cost)

(@) AT (Demand)

(

) 548 & HIs gl (None of these)

26. AT 3c9TeeT SIIEAT diEdd H & (Present production system, infact, is):
(a) 9cTaT 3cuica (Direct production)

(b) 3I9cT&T 3cUica (Indirect production)
(c) srafA® (Primary)
(d) gfad@s (Secondary)



27. fquuter =99 AR & (Marketing expenditure is a burden)
(a) 36T 9T (on industry)

(b) =TEETAAT W (on businessmen)

(c) 3YHAFAT3T I (on consumers)

(d) 377 & G 9T (all of these)

28. TUAT A 3T g (Easy in formation is):
(a) TahThI <A )Sole Trading)

(b) ETSIERT % )Partnership Firm)

(c) EgFd Yol FT=r )Joint Stock Company)
(d) 39ged A @ @IS g1 )None of these)

29. #3T }OUT 97 8id & (Naked debentures are) -
(a) YOI FRI&T (Fully secured)

(b) 3nfrer FRF&TT (Partly secured)

(c) 3Rf&T (Unsecured)

(d) 318 & HIs T (None of these)

30. IGAT T ... 80 STIAT & 9T & AuiRa &xar § )The ...

business also determines the form of organisation) --
(a) AR (Size)

(b) 1T (Location)

(c) 31&ITT (Study)

(d) 319 & HIs 18T (None of these)

31. eEr HriRfier Goft &1 31 & (Net Working Capital Means) -
(a) TTe] FFITRIAT- dTe] &Mfdca (C. A. -C. L.)

(b) =TTl FFIRIAT + dTe] arfded (C. A. + C.L.)

(c) are] &rffea-are g&afadm (C. L. -C. A)

(d) T8 & FIg 8T (None of these)



32. IDBI frg a¥ T #r a5? (IDBI was established in the year) —
(a) 1944

(b) 1954
(c) 1964
(d) 1974

33. TN oRTd 9fa &1 Sodr & oo (Fixed cost per unit increases when)
(a) 3cUTGe F gl ¢ (Production decreases)
b) 3cdiesT sGaT g (Production increases)

(b)
(c) 3cUTesT qdad, @ & (Production remains same)
(d)

d) 378 & FIs g7 (None of these)

34. ThIEUT ¥ IfAUT g (Integration means)

(a) A=dRe faF¥arR (Expending internally)

(b) ST TATAR (Expending externally)

(c) 3edikeh Td &g fAEAR (Expanding internally and externally)
(

d) 37 & FIS g7 (None of these)

35. 3T #1085 FI AAVATC § (The characteristics of a good brand are) -
(a) g&#H =T1H (short name)

(b) ¥AXOMT (memorable)

(c) 3TN (attractive)

(d) & | (all these)
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AT fAder-:

> qReTef TUrEdT 3Ue Qeal H IR & |

> Fol =T dr wEdr 19 ¢ |

> U HEIT 1§ 7 e A oY ST 9T g, fohedl uia weal @ 3
&oTT AT & | A 9T & AT T 3 iR T |

> U HEAT 08 @ 14 o I el &, fohl aie 9eal &l 3o &all
HAG & | T AF W & AT 3 3 R § |

> e TEAT 15 ¥ 19 QT 3007 weeT g, Fet A weat #r1 39% &
HAG & | T AF WRe & AT 5 3 iR § |

1. digAfahr &1 82 (What is technology?)

2. 3GE §1Y &7 FIT a9y 82 (What does it mean by sensing opportunity?)

3. oI@iehal 3IUTd & 39 AT FHSAG g2 (What do you understand by accounting

ratio?)

4. 9ol & fohdst 9 872 (Classify the capital.)

5. s & g a &1 (Define planning?)

6. STt &1 YeT: TAQer &A1 §? (What is ploughing-back of profits?)

7. AU waer & F471 3T g2 (What is meant by marketing management?)
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8. fored fAg=auT 1 Agca F471 €2 (What is the importance of quality control ?)

9. STSIR HedTehel AT I §? I§ &4l [T S1ar g2 (What is Market

Assessment? Why is it needed?)

10. =Te] 7T T feT 3T # &S Uh ek HITAT (State any one

difference between Current Ratio and Quick Ratio)

1. gH-faede Seq &1 fAERor && faar Siar 82 (How is break-even point

determined?)
12. Yot &1 Hffoldd gl 4T 3iTaedsh g2 (Why balanced capital is essential?)
13. §US &1 AT 3662F 82 (What is the object of branding?)

14. FIY-garg fGaxor & 37T F1 gASTd 82 (What do you mean by Fund-Flow

Statement?)

&rer 3O wee

15. 7 3YshA & TUMAT el ¥ Y WA &l fohet 3MaeTeh STl T €A1 Sl
aifgd? (What essential factors should be considered by an entrepreneur before

setting up of a new enterprise?)

16. YATRONT FEHA ST T GAIT el arel fafFewT Teehl I diged sarear sl

(Briefly explain the different factors affecting environmental scanning.)

17. RA@TT YR & JATIAT FT 3eoll@ FHIToTT| (Mention the different kinds of resources.)

18. ‘U hell g AT TAATT 31T GlAl| “SH HUT HI TS HIfav| (“Management is
an Art or Science or both.” Explain this statement.)



19. TAYUTT HI ITUROT & 39 FAT FHASIT ¢? AUV &7 THTT UG &1F T §
?(What do you mean by marketing concept? What is the nature and scope of

marketing?)



